T1624/T1079 AUTOMATA THEORY

SE-Semni¥ T-T (Los54s)
Duration: 3 hours

Note (1) Question No. 1 is compulsory

S—>aSalbSblalb

(¢) Difference between, FA and PDA _ L S i (05)

~‘»»..,\.'

Q 2. (2) Construct NF _ Wlth epm[on: whlch accept a language conmsnng the string of any (10)

(10)
g Q3(a) Use pumpmg lemma ;":)rdve'_.th_at whether f'o:-lllowing language is regular or not (10)
\ (a’ b c f | n>—1)
' (b) Explam Chomsky’s Hterarchy (10)
(10)
Turn Over
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(b) Construct TM for L= {a"b"c"

(b) Convert given CFG to CNF

(b) Recursive and Recursivel

(c) Halting Problem




T1624/T1081 WEB PROGRAMMING Fret z ; @

e (ITT) €84S

Se TV PRSP
e Q.P. code.‘oam\; TEES
[Time: Three Hours] AR e o [Marksaﬂ]
Please check whether you have got the right L{GSEIO[I paper
N.B: 1. Question No. 1 is compulsory. N S
2. Solve any three questions out of remalning que?.ttons
3. Assume suitable data if required. = O o
Q.1 a) Whatis a Web Server and why are they needed. A e S S S . 05
b) Explain three tier architecture of web appllcatlon ' DU ETR o DT 0 R e 05
c) Explain PHP string functions. ' 3 05
d) Whatis the purpose of XML? 05
Q.2 a) Differentiate between the following: 12

I Session and cookies
ii. Client-Side and Server-Side Programming
iii.  JSP and Serviet
iv.  Static and Dynamic pages
b) Describe the situations of usnngEx;ernal StquSheets, Embedded (lnternall St\,r!e Sheets and Inline Styles, 08
Use both CSS and HTML: cocie to prlain how to use each type oftbe sty1es

Q.3 a) Whatis JQUERY? lllustrate the use of JQUERY for form validation. 2 10
b) Write a Java scrlpt to opena new WIndow when clicking on a button 10
Q.4 a) Discuss the J:fe cycle of: Servlet = 10
b) Exptaln wuh examp]e code how cookses are handled in JSP 10
Q.5 a) Whati |s ADO Net? How to connect toa database usmg ADO NET. ' 10
b) Explaln XML, XSt and XSLT with example Al 10
Q.6 Write short note.on (any four] 20

i. Web site design issues. _ :
i, _-Bulldlng web app!:catlon usmg PHP
iii. ~ Different types of controis used in creanon of ASP.NET pages

v, > JDBE
RN Sessmntrackmg

Vi 'Ob]ects in JavaScript

< F97BF8CF494AE2E18F297DC3428B3203




T1¢24/T1080 S.E.(INFORMATION TECHNOLOGY)(SEM IV) (CBSGS) COMPUTER ORGANIZATL@N

Q.1

Q.2

Q.3

Q4

Q.5

Q.6

\Jee |V

[Time: Three Hours]

Please check whether you have got thenght questlan papér

N.B: 1. Question.No.1 is compulsory. ol ~‘ X 3
2. Attempt any THREE out of the remainmg questlons SRR
3. Assume suitable data if necessary. \ bl

Solve any Four sub questions T N Y P
a) Draw and explain Memory hierarchy. . o S

b) Represent (12.25)10in double prec:Slon IEEE 754 blnaw floating pomt repreSeptation format

¢) Draw and explain basic instruction executrbn cycle
d) What are the types of pipeline hazards?
e) What are the major functions-of an I/0 module?

a) Explain the functioning of Wllke s, Mlqroproggammed cogtrol uﬁttwgth :t§ adlf@ntages
b) Draw the flowrhart of Booth«: aimrrthm and mu!ﬂn {ﬂ}*( 3) Lgsin"‘Booth‘.\afgcr thm.
a) Differentiate between RISC and CISC in detail with® example

b) Draw flowchart of binary Restoring division and-use it to divide 16/4.

a) Calculate the number of | page hits and faults using FIFO, LRU and OPTIMAL page replacement
algorithms for the followmg page frame sequence 47 3 1 2/4;3,2,5,3,6,7,9,3,7.
(FRAME SIZE 3). R

b) What is mstruchon plpellmng? Explaln Wrth swtab!e daagram

a) What are the eie_ment_s ofa cache des;gn?
b) Explain DMA in detail.

Write detailed notes on (any two)
a) Microinstruction formats
) Programmed /O - :
c} fg;erleaved*andﬁssocaatwe memory
d} Evolutlon of' Computers :
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SE- Sem-TVv. . T T (CBsgs)

T1624/T1082 INFORMATION THEORY AND CODING

DL I1B]6)17

Duration: 3 Hours N

Instructions:
(1) Question no 1 is Compulsory
(2) Write any Three from Remaining
(3) Assume suitable data if necessary

Question

No.
Q1(a)

Q1(b)
Q1(c)

Ql(d)
Q1 (e

Q2 (a)

Q2 (b)
Q2 (c)
Q3 (a)

Q6 (a)
Q6 (b)
Q6 (¢)
Q6 (d)

Explain Prefix code and Kraft Inequality

Write difference between GIF and JPEG

Define following terms

1.Code Efficiency 2.Hamming Distance 3.Minium Distance (dmmn)
4. Hamming Weight

Three Security Goals in Cryptography.Explain

State and explain Fermat,s Little theorem with suitable example and use
State Chinese Remainder Theorem using it solve for X.

X=2MOD3
X =3MOD'5
X=2MOD:7

Describe DES
What is Information rate And write properties of Information
For (7.4) linear block code
1110100
H= (0111010
1101001
Find
1. Generator matrix
2. All code vectors
3. Number of error that can be detected and corrected
Differentiate between block cipher and stream cipher

With block diagram explain JPEG Encoder
Derive Huffman code for the source having

p(x)={0.07, 0.08, 0.04, 0.26, 0.14, 0.09, 0.07, 0.25} .Find coding efficiency and
redundancy.

With example explain Convolution code

Explain Diffie- Hellman Algorithm .Which attack it is vulnerable to?
Encode the siring using LZW Technique abracadaba

Compare Symmetric and Asymmetric key cryptography.

Use the Euclidean,s algorithm to find ged (1819,3587).

Write short notes

RSA algorithm

Cyelic and Prefix codes

Lossy and Lossless Compression
Shannon’s Limit

9780C43F3C29912FC2827BC3174C8392
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